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gxplain perfectly inelastic demay
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Explain the 'shifts in the Bin
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rade in Goods

Read the both given statements
on (A) : Change fa‘ . |
e n ventories may be pléned or unplanned.
(i) Both A and R arecorrect and R is the correct explanation of A,

Lo (ﬁ) BotnAand hFIl.are correct but R is not the correct explanation of A.

(iii) A is correct but R is incorrect.

(iv) Both A and R are incorrect.
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lhat is exchange of commodities without the mediation of money called?
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What can be the maximum value of
18. SO (GST) &1 7 3y ey
Writ 2 the full name of GsT,
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y describe any two methods of calcui_ating National Income,
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Explain the concept of Full Employment,




o X : e De RD) refers to the excess of revenue
expenditure over revenue recipts. Effecitive Reveneue Deficit (ERD) is the

it and Grants-in-Aid for creation of capital
as Flsw Deﬂc:lt l&es lnterest payments

ye Capital Expenditure mean?
What is obtained by adding Primary Deficit to Interest Payments?
(lv) What is the Actual Expenditure of the financial year 2021-227
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